Fully-worked Solutions

CHAPTER b

Summative Practice
Section A

1L =%(2x+4)(3x— 1)

=(x+2)3x-1)

=3x2+6x—x-2

=3x*+5x-2
Answer: A

2 (a+2)(a-2)-(a+8)=d*—4-a-8

=d’-a-12
=(a-4)(a+3)
Answer: C
3 V—w? =30
wV+w)(v—-w)=30
v+w)(5) =30
v+w=£
5
=6
Answer: D
4 6+x = 6+x—2x
X X
6—x
T x
Answer: C
s 3_ 5=y _30+D-y5-y)
y  y+l Yo+ 1D
_3y+3—5y+y2
T+ D
_Y=2y+3
T+
Answer: B
6 b+5_ 3 =b+5+3
b-5 5-b b-5
_b+8
T b-5
Answer: A

1
7 Distance = (6x—18) x 5 (x+3)

=3(x-3)(x+3)
=3x?-27
Answer: D

b b
8 (9—b2)><m=(3+b)(3—b)><m

=3+ X

4(b-13)
__bb+3)
- 4
B b*+3b

- 4

Answer: D
9 2h—k +4hz— k2= 2h—k y hk
h hk h 4n*—k*

_2h-k hk
TR T Qh+kQRh-k)
_ k
T hQh+k)
_ k
T 2R+ hk
Answer: A
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(x+2y)° 4 =
2x-2y  (x+2y) x-y
=4(x+2y) P
2(x-y)  x-y
2(x+2y) +x
(x=y
_ 2x+4dy+x
_T
_ 3x+4y
X=y
Answer: C

Section B
1 (@ () mm-3)=m>-3m
() x(x-Dx+1) =x(x*-1)
=x’—x
() (1) x(x+y)=2y(x+y)=(x-2y)(x+y)

(i) X—xy—6y" = +2xy) + (S3xy -6y
=x(x+2y)-3y(x +2y)
=(x+2y)(x-3y)

2 Lt 2
@ 2 3m 6m 6m
=L
m
(b) £+i:&+3_a
a b ab ab
:2b+3a
ab
4 3 1
(© =
X=y y-x x-y
) a+b>< @b (a+ba’db
2ab®> " 3a+3b ~ 2ab’(3a+3b)
_ (a+b)a®
T 20*x3(a+b)
aZ
=
Section C
de+12  e+3 4(e+3) e+2
1@ 7 "5 " e+ X ex3
_ 4
T e-2
5 3-4b _ 15-(3-4b)
® 2a 6a 6a
_15-3+4b
- 6a
_12+4b
T 6a
_ 2(6+2b)
- 6a
_6+2b
T 3a

30 10 6 10
() — =

5x  3x+5 x 3x+5
_ 6(3x+5) —10x
x(3x+5)
18x+30—10x
x(3x+5)
8x+30
x(3x+5)
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